

Discrete Sturm comparison theorems on finite and infinite intervals

Dov Aharonov^{a1}, Martin Bohner^{b*} and Uri Elias^{a2}

^aDepartment of Mathematics, Technion – Israel Institute of Technology, Haifa 32000, Israel; ^bDepartment of Mathematics and Statistics, Missouri S&T – Missouri University of Science and Technology, Rolla, MO 65409-0020, USA

(Received 15 February 2011; final version received 31 May 2011)

The Sturm comparison theorem for second-order Sturm-Liouville difference equations on infinite intervals is established and discussed.

Keywords: Sturm–Liouville difference equation; discrete Sturm comparison theorem; generalized zero; infinite interval

AMS 2010 Subject Classification: 34B24; 39A10; 39A12; 39A21

1. Introduction and main results

In [2], the Sturm comparison theorem for second-order differential equations of the form

$$u'' + p(t)u = 0 \quad \text{for } t \in (a, b)$$

was established for the two singular situations

- (i) when the coefficient p is unbounded near the endpoints $a, b \in \mathbb{R}$ of the interval,
- (ii) when $a = -\infty$ or $b = \infty$ so that the interval (a, b) is unbounded.

In both cases, the conventional assumption that a solution u vanishes twice is replaced by the two boundary conditions

$$\int_{a} \frac{\mathrm{d}t}{u^{2}(t)} = \infty \quad \text{and} \quad \int^{b} \frac{\mathrm{d}t}{u^{2}(t)} = \infty$$

In this work, we denote \mathbb{Z} as the set of integers and formulate a discrete analogue of case (ii) for sequences $u := \{u_k\}_{k \in \mathbb{N}_0}$ and for Sturm–Liouville difference equations of the form

$$\Delta^2 u_k + p_k u_{k+1} = 0 \quad \text{for } k \in \mathbb{Z},\tag{1}$$

where Δ denotes the forward difference operator defined by $\Delta u_k = u_{k+1} - u_k$. Together with (1), we consider another Sturm–Liouville difference equation of the form

$$\Delta^2 v_k + P_k v_{k+1} = 0 \quad \text{for } k \in \mathbb{Z}, \tag{2}$$

ISSN 1023-6198 print/ISSN 1563-5120 online © 2012 Taylor & Francis http://dx.doi.org/10.1080/10236198.2011.594440 http://www.tandfonline.com

^{*}Corresponding author. Email: bohner@mst.edu

and we assume throughout that

$$P_k \ge p_k \quad \text{for all} \ k \in \mathbb{Z}.$$
 (3)

The Sturm comparison theorem for second-order difference equations on a finite set $[M,N]_{\mathbb{Z}} := [M,N] \cap \mathbb{Z}$ with $M, N \in \mathbb{Z}$ and M < N is usually formulated and proved using the concept of disconjugacy (see [1,5,8] and [9, Theorem 6.19]). Here, we want to give a formulation that relies rather on generalized zeros and a proof that is elementary and more straightforward without the detour through disconjugacy. In Theorem 1.2 below and throughout, we use the following well-known concept of a generalized zero at $m \in \mathbb{Z}$.

DEFINITION 1.1 (GENERALIZED ZERO AT AN INTEGER). A solution u of (1) (or (2)) is said to have a generalized zero at $m \in \mathbb{Z}$ provided that either $u_m = 0$ or $u_m u_{m+1} < 0$.

THEOREM 1.2 (STURM COMPARISON THEOREM ON A FINITE INTERVAL). Let $M, N \in \mathbb{Z}$ with M < N. Assume (3). Suppose u is a nontrivial solution of (1) with generalized zeros at M and at N but without any generalized zeros in $[M + 1, N - 1]_{\mathbb{Z}}$. Then any solution v of (2) has at least one generalized zero in $[M, N]_{\mathbb{Z}}$.

The main result of this paper is the following extension of Theorem 1.2 to infinite intervals. In Theorem 1.4 below and throughout, we use the following concept of a recessive solution at ∞ .

DEFINITION 1.3 (RECESSIVE SOLUTION AT ∞). A solution u of (1) (or (2)) is said to be recessive at ∞ provided that there exists $m \in \mathbb{Z}$ such that

$$u_k u_{k+1} > 0$$
 for all $k \in [m, \infty)_{\mathbb{Z}}$ and $\sum_{k=m}^{\infty} \frac{1}{u_k u_{k+1}} = \infty$.

THEOREM 1.4 (STURM COMPARISON THEOREM ON AN INFINITE INTERVAL). Let $M \in \mathbb{Z}$. Assume (3). Suppose u is a solution of (1) which is recessive at ∞ and has a generalized zero at M but has no generalized zero in $[M + 1, \infty)_{\mathbb{Z}}$. Then any solution v of (2) is recessive at ∞ or has at least one generalized zero in $[M, \infty)_{\mathbb{Z}}$.

Note that both Sturm comparison theorems (Theorems 1.2 and 1.4) also provide Sturm separation theorems in the case when we have equality in all inequalities of (3). A 'proper' version of Theorem 1.4 that does not contain a Sturm separation theorem is as follows.

THEOREM 1.5 ('PROPER' STURM COMPARISON THEOREM ON AN INFINITE INTERVAL). Let $M \in \mathbb{Z}$. Assume (3) and

there exists
$$\ell \in [M, \infty)_{\mathbb{Z}}$$
 such that $P_{\ell} > p_{\ell}$. (4)

Suppose u is a solution of (1) which is recessive at ∞ and has a generalized zero at M but has no generalized zero in $[M + 1, \infty)_{\mathbb{Z}}$. Then any solution v of (2) has at least one generalized zero in $[M, \infty)_{\mathbb{Z}}$.

In Section 2, we prove the above results and supply some examples. Section 3 deals with the corresponding results in the double-infinite case.

2. Auxiliary results, proofs and examples

In Lemma 2.1 below, we give several auxiliary formulae that are needed in the proof of Theorem 1.4 below. These auxiliary results may be checked by simple calculations. As these results also serve to supply a short proof of Theorem 1.2, we will present this proof below as well.

LEMMA 2.1. Let u and v be solutions of (1) and (2), respectively, and define the sequence w by

$$w_k := v_k \Delta u_k - u_k \Delta v_k = u_{k+1} v_k - u_k v_{k+1}$$

(i) We have

$$\Delta w_k = (P_k - p_k)u_{k+1}v_{k+1}.$$

(ii) If $u_k u_{k+1} \neq 0$ at $k \in \mathbb{Z}$, then

$$\Delta \frac{v_k}{u_k} = -\frac{w_k}{u_k u_{k+1}}$$

(iii) If $v_k v_{k+1} \neq 0$ at $k \in \mathbb{Z}$, then

$$\Delta \frac{u_k}{v_k} = \frac{w_k}{v_k v_{k+1}}$$

(iv) If $u \neq 0$ has a generalized zero at $k \in \mathbb{Z}$ but v does not and $v_{k+1} \neq 0$, then

$$\frac{u_{k+1}}{v_{k+1}}w_k > 0$$

(v) If u has a generalized zero at $k \in \mathbb{Z}$ but v does not, then

$$\frac{u_k}{v_k}w_k \le 0.$$

Proof of Theorem 1.2. Suppose the claim is wrong, i.e. assume that *v* has no generalized zero in $[M, N]_{\mathbb{Z}}$, i.e. $v_k v_{k+1} > 0$ for all $k \in [M, N-1]_{\mathbb{Z}}$ and $v_N v_{N+1} \ge 0$. First note that by Lemma 2.1(iv)

$$\frac{u_{M+1}}{v_{M+1}}w_M > 0, \text{ so } \frac{u_{k+1}}{v_{k+1}}w_M \ge 0 \text{ for all } k \in [M, N-1]_{\mathbb{Z}}$$

so that $w_M \neq 0$ and, due to Lemma 2.1(i), the sequence w is on $[M, N]_{\mathbb{Z}}$ increasing if $w_M > 0$ and decreasing if $w_M < 0$. Therefore,

$$w_k w_M \ge w_M^2 > 0$$
 for all $k \in [M, N]_{\mathbb{Z}}$.

By Lemma 2.1(iii), we thus have

$$w_M\left(\frac{u_N}{v_N} - \frac{u_M}{v_M}\right) = w_M \sum_{k=M}^{N-1} \frac{w_k}{v_k v_{k+1}} \ge w_M^2 \sum_{k=M}^{N-1} \frac{1}{v_k v_{k+1}} \ge \frac{w_M^2}{v_M v_{M+1}} = w_M \frac{u_{M+1}}{v_{M+1}} - w_M \frac{u_M}{v_M}$$

and therefore, using Lemma 2.1(v) for the last inequality,

$$0 < \frac{u_{M+1}}{v_{M+1}} w_M \le \frac{u_N}{v_N} w_M \le \frac{u_N}{v_N} w_N \le 0,$$

a contradiction.

Now we prove the main result of this paper.

Proof of Theorem 1.4. Suppose the claim is wrong, i.e. assume that *v* is not recessive at ∞ and has no generalized zero in $[M, \infty)_{\mathbb{Z}}$, i.e. $v_k v_{k+1} > 0$ for all $k \in [M, \infty)_{\mathbb{Z}}$ and

$$\sum_{k=M}^{\infty} \frac{1}{\nu_k \nu_{k+1}} < \infty.$$

First note that by Lemma 2.1(iv)

$$\frac{u_{M+1}}{v_{M+1}}w_M > 0, \quad \text{so} \quad \frac{u_{k+1}}{v_{k+1}}w_M \ge 0 \quad \text{for all } k \in [M, \infty)_{\mathbb{Z}}$$

so that $w_M \neq 0$ and, due to Lemma 2.1(i), the sequence w is on $[M, \infty)_{\mathbb{Z}}$ increasing if $w_M > 0$ and decreasing if $w_M < 0$. Therefore,

$$w_k w_M \ge w_M^2 > 0$$
 for all $k \in [M, \infty)_{\mathbb{Z}}$.

By Lemma 2.1(ii), we thus have for $n \in [M + 1, \infty)_{\mathbb{Z}}$

$$w_M\left(\frac{v_n}{u_n} - \frac{v_{M+1}}{u_{M+1}}\right) = -w_M \sum_{k=M+1}^{n-1} \frac{w_k}{u_k u_{k+1}} \le -w_M^2 \sum_{k=M+1}^{n-1} \frac{1}{u_k u_{k+1}},$$

which tends to $-\infty$ as $n \rightarrow \infty$ so that

$$\frac{u_n}{v_n} \to 0 \quad \text{as} \ n \to \infty.$$

Moreover, by Lemma 2.1(iii)

$$w_M\left(\frac{u_n}{v_n} - \frac{u_M}{v_M}\right) = w_M \sum_{k=M}^{n-1} \frac{w_k}{v_k v_{k+1}} \ge w_M^2 \sum_{k=M}^{n-1} \frac{1}{v_k v_{k+1}} \ge \frac{w_M^2}{v_M v_{M+1}} = w_M \frac{u_{M+1}}{v_{M+1}} - w_M \frac{u_M}{v_M}.$$

Hence, by letting $n \rightarrow \infty$, we obtain

$$0 \ge w_M \frac{u_{M+1}}{v_{M+1}} > 0,$$

a contradiction.

We next supply an example concerning Theorem 1.4.

Downloaded by [Baylor University Libraries] at 11:20 04 February 2013

Example 2.2. Let

$$P_k \equiv 2 \quad \text{and} \quad p_k = \begin{cases} \frac{3}{2} & \text{for } k \in (-\infty, -1]_{\mathbb{Z}}, \\ -\frac{1}{2} & \text{for } k \in [0, \infty)_{\mathbb{Z}}. \end{cases}$$

Thus, (3) holds. Then (1) has a solution u satisfying

$$u_{-1} = 0$$
 and $u_k = 2^{-k}$ for all $k \in \mathbb{N}_0$.

This solution u is recessive at ∞ and has a generalized zero at -1 but has no generalized zero in $[0, \infty)_{\mathbb{Z}}$. By Theorem 1.4, any solution v of (2) has at least one generalized zero in $[-1, \infty)_{\mathbb{Z}}$. Since (2) is equivalent to the equation $u_{k+2} + u_k = 0$, this statement can also easily be verified directly.

We now provide an example of how to construct a solution with two generalized zeros in $[M, \infty)_{\mathbb{Z}}$ provided the assumptions of Theorem 1.4 hold under the additional condition that strict inequality holds in (3) for at least one integer greater than or equal to M.

THEOREM 2.3. Let $M \in \mathbb{Z}$. Assume (3) and (4). Suppose *u* is a solution of (1) which is recessive at ∞ and has a generalized zero at *M* but has no generalized zero in $[M + 1, \infty)_{\mathbb{Z}}$. Then the solution *v* of (2) satisfying

$$v_{\ell} = u_{\ell}$$
 and $v_{\ell+1} = u_{\ell+1}$

has at least one generalized zero in $[M, \ell]_{\mathbb{Z}}$ and at least one generalized zero in $[\ell + 1, \infty)_{\mathbb{Z}}$.

Proof. First suppose that the first half of the claim is wrong, i.e. $\ell > M$, $v_k v_{k+1} > 0$ for all $k \in [M, \ell - 1]_{\mathbb{Z}}$ and $v_\ell v_{\ell+1} \ge 0$. Then $u_{M+1}v_M > 0$ and $u_M v_{M+1} \le 0$ so that $w_M > 0$. Hence, by Lemma 2.1(i),

$$0 > -w_M = w_{\ell} - w_M = \sum_{k=M}^{\ell-1} (P_k - p_k) u_{k+1} v_{k+1} \ge 0,$$

a contradiction. Next suppose that the second half of the claim is wrong, i.e. $v_k v_{k+1} > 0$ for all $k \in [\ell + 1, \infty)_{\mathbb{Z}}$. Then for $k \in [\ell + 1, \infty)_{\mathbb{Z}}$, using Lemma 2.1(i),

$$w_k = w_k - w_\ell = \sum_{i=\ell}^{k-1} (P_i - p_i) u_{i+1} v_{i+1} \ge (P_\ell - p_\ell) u_{\ell+1}^2 =: C > 0.$$

By Lemma 2.1(ii), for all $n \in [\ell + 1, \infty)_{\mathbb{Z}}$,

$$1 \ge \frac{v_{\ell}}{u_{\ell}} - \frac{v_n}{u_n} = \sum_{k=\ell}^{n-1} \frac{w_k}{u_k u_{k+1}} \ge C \sum_{k=\ell}^{n-1} \frac{1}{u_k u_{k+1}}$$

which tends to ∞ as $n \rightarrow \infty$, a contradiction.

Using Theorems 2.3 and 1.4, we may now prove Theorem 1.5.

Proof of Theorem 1.5. Since the assumptions are the same as in Theorem 2.3, the solution of (2) defined in Theorem 2.3 has at least two generalized zeros in $[M, \infty)_{\mathbb{Z}}$. Thus, by Theorem 1.2 in the case of P = p, i.e. the Sturm separation theorem on a finite interval, any solution *v* must have at least one generalized zero in $[M, \infty)_{\mathbb{Z}}$.

3. The double-infinite case

1768

In this final section, we establish the Sturm comparison theorem on the double-infinite case \mathbb{Z} . Our result contains a corresponding Sturm separation theorem. In Theorem 3.2 below and throughout, we use the following concept of a recessive solution at $-\infty$.

DEFINITION 3.1 (RECESSIVE SOLUTION AT $-\infty$). A solution u of (1) (or (2)) is said to be recessive $at -\infty$ provided that there exists $m \in \mathbb{Z}$ such that

$$u_k u_{k+1} > 0$$
 for all $k \in (-\infty, m]_{\mathbb{Z}}$ and $\sum_{k=-\infty}^m \frac{1}{u_k u_{k+1}} = \infty.$

THEOREM 3.2 (STURM COMPARISON THEOREM ON A DOUBLE-INFINITE INTERVAL). Suppose u is a solution of (1) which is recessive at $-\infty$ and at ∞ and has no generalized zero in \mathbb{Z} . Then any solution v of (2) is recessive at $-\infty$ or at ∞ or has at least one generalized zero in \mathbb{Z} .

Proof. Suppose the claim is wrong, i.e. $v_k v_{k+1} > 0$ for all $k \in \mathbb{Z}$ and

$$\sum_{k=0}^{\infty} \frac{1}{\nu_k \nu_{k+1}} < \infty \quad \text{and} \quad \sum_{k=-\infty}^{0} \frac{1}{\nu_k \nu_{k+1}} < \infty.$$

Without loss of generality, suppose that $u_k v_k > 0$ for all $k \in \mathbb{Z}$ (otherwise, we consider $\tilde{v} = -v$). Thus, by Lemma 2.1(i), w is increasing on \mathbb{Z} . So there are only the following three possibilities:

1. There exists $M \in \mathbb{Z}$ such that $w_M > 0$. Then $w_k \ge w_M > 0$ for all $k \in [M, \infty)_{\mathbb{Z}}$. Thus, for all $n \in [M, \infty)_{\mathbb{Z}}$, using Lemma 2.1(ii),

$$\frac{v_n}{u_n} - \frac{v_M}{u_M} = -\sum_{k=M}^{n-1} \frac{w_k}{u_k u_{k+1}} \le -w_M \sum_{k=M}^{n-1} \frac{1}{u_k u_{k+1}}$$

which tends to $-\infty$ as $n \to \infty$, and thus

$$\frac{u_n}{v_n} \to \infty \quad \text{as } n \to \infty.$$

Therefore, for all $n \in [M, \infty)_{\mathbb{Z}}$, using Lemma 2.1(iii),

$$\frac{u_n}{v_n} - \frac{u_M}{v_M} = \sum_{k=M}^{n-1} \frac{w_k}{v_k v_{k+1}} \ge w_M \sum_{k=M}^{n-1} \frac{1}{v_k v_{k+1}} > \frac{w_M}{v_M v_{M+1}} = \frac{u_{M+1}}{v_{M+1}} - \frac{u_M}{v_M}$$

and hence, by letting $n \rightarrow \infty$,

$$0 \ge \frac{u_{M+1}}{v_{M+1}},$$

a contradiction.

2. There exists $M \in \mathbb{Z}$ such that $w_M < 0$. Then $w_k \le w_M < 0$ for all $k \in (-\infty, M]_{\mathbb{Z}}$. Thus, for all $n \in (-\infty, M]_{\mathbb{Z}}$, using Lemma 2.1(ii),

$$\frac{v_{M+1}}{u_{M+1}} - \frac{v_n}{u_n} = -\sum_{k=n}^M \frac{w_k}{u_k u_{k+1}} \ge -w_M \sum_{k=n}^M \frac{1}{u_k u_{k+1}},$$

which tends to ∞ as $n \rightarrow -\infty$, and thus

$$\frac{u_n}{v_n} \to \infty \quad \text{as } n \to -\infty.$$

Therefore, for all $n \in (-\infty, M]_{\mathbb{Z}}$, using Lemma 2.1(iii),

$$\frac{u_{M+1}}{v_{M+1}} - \frac{u_n}{v_n} = \sum_{k=n}^M \frac{w_k}{v_k v_{k+1}} \le w_M \sum_{k=n}^M \frac{1}{v_k v_{k+1}} < \frac{w_M}{v_M v_{M+1}} = \frac{u_{M+1}}{v_{M+1}} - \frac{u_M}{v_M}$$

and hence, by letting $n \to -\infty$,

$$0 \leq -\frac{u_M}{v_M}$$

a contradiction.

3. $w_k = 0$ for all $k \in \mathbb{Z}$. Then we have $u_{k+1}v_k = v_{k+1}u_k$ for all $k \in \mathbb{Z}$ and hence

$$\frac{u_{k+1}}{v_{k+1}} = \frac{u_k}{v_k} \equiv \frac{u_0}{v_0} =: \alpha \quad \text{for all } k \in \mathbb{Z}$$

so that $u_k = \alpha v_k$ for all $k \in \mathbb{Z}$, where $\alpha > 0$, a contradiction.

Since no other possibilities exist, the proof is complete.

As in Theorems 2.3 and 1.5, we may also prove the following two results.

THEOREM 3.3. Assume (3) and

there exists
$$\ell \in \mathbb{Z}$$
 such that $P_{\ell} > p_{\ell}$. (5)

Suppose u is a solution of (1) which is recessive at $-\infty$ and at ∞ and has no generalized zero in \mathbb{Z} . Then the solution v of (2) satisfying

$$v_{\ell} = u_{\ell}$$
 and $v_{\ell+1} = u_{\ell+1}$

has at least one generalized zero in $(-\infty, \ell]_{\mathbb{Z}}$ and at least one generalized zero in $[\ell + 1, \infty)_{\mathbb{Z}}$.

THEOREM 3.4 ('PROPER' STURM COMPARISON THEOREM ON A DOUBLE-INFINITE INTERVAL). Assume (3) and (5). Suppose u is a solution of (1) which is recessive at $-\infty$ and at ∞ and has no generalized zero in \mathbb{Z} . Then any solution v of (2) has at least one generalized zero in \mathbb{Z} .

1769

 \Box

Example 3.5. Let

$$P_{k} = \begin{cases} -\frac{1}{2} & \text{for } k \in \mathbb{Z} \setminus \{-1\}, \\ 2 & \text{for } k = -1, \end{cases} \text{ and } p_{k} = \begin{cases} -\frac{1}{2} & \text{for } k \in \mathbb{Z} \setminus \{-1\}, \\ 1 & \text{for } k = -1. \end{cases}$$

Thus, (3) holds and (5) holds with $\ell = -1$. Then (1) has a solution *u* satisfying

$$u_{-k} = u_k = 2^{-k}$$
 for all $k \in \mathbb{N}_0$.

This solution *u* is recessive at $-\infty$ and at ∞ and has no generalized zero in \mathbb{Z} . By Theorem 3.3, the solution *v* of (2) satisfying

$$v_{-1} = u_{-1}$$
 and $v_0 = u_0$

has at least two generalized zeros in \mathbb{Z} . Since v is explicitly given by

$$v_{-1} = \frac{1}{2}, \quad v_0 = 1, \quad v_1 = -\frac{1}{2}, \quad v_{-k} = v_k = -2^{-|k|} \text{ for all } k \in \mathbb{N} \setminus \{1\},$$

this statement can also easily be verified directly as v obviously has on \mathbb{Z} exactly the two generalized zeros -2 and 0.

We conclude this paper by mentioning three more possibilities of extensions, which may become the subjects of future work.

Remark 3.6. One could consider more general self-adjoint difference equations of the form

$$\Delta(r_k \Delta u_k) + p_k u_{k+1} = 0, \tag{6}$$

where r_k is assumed to be different from zero but may have both positive and negative values. See [3, Section 1.5] (and [9, Example 6.7]), where the Fibonacci difference equation is written as

$$\Delta((-1)^{k}\Delta u_{k}) + (-1)^{k}u_{k+1} = 0.$$

A solution of an equation (6) is said to have a generalized zero at $k \in \mathbb{Z}$ if $u_k = 0$ or $r_k u_k u_{k+1} < 0$.

Remark 3.7. A generalization of all the presented results to time scales (see [6]) is also a natural step.

Remark 3.8. The Sturmian comparison method has been extended in various directions. We are grateful to the referee who drew our attention to the paper [7] (see also [4]), where a Sturmian theory is developed for pairs of difference equations of a special type, namely

$$x(i+1) - a(i)x(i) + \sum_{k=1}^{N} b^{(k)}(i)x(i-k) + \sum_{\ell=1}^{M} c^{(\ell)}(i)x(i+\ell) = 0,$$

$$y(i-1) - a(i)y(i) + \sum_{k=1}^{N} b^{(k)}(i+k)y(i+k) + \sum_{\ell=1}^{M} c^{(\ell)}(i-\ell)y(i-\ell) = 0,$$

where $b^{(k)}(i), c^{(\ell)}(i) \ge 0$.

Notes

- 1. Email: dova@techunix.technion.ac.il
- 2. Email: elias@tx.technion.ac.il

References

- R.P. Agarwal, M. Bohner, S.R. Grace, and D. O'Regan, *Discrete Oscillation Theory*, Hindawi Publishing Corporation, Cairo, 2005.
- [2] D. Aharonov and U. Elias, Singular Sturm comparison theorems, J. Math. Anal. Appl. 371 (2010), pp. 759–763.
- [3] C.D. Ahlbrandt and A.C. Peterson, Discrete Hamiltonian Systems: Difference Equations, Continued Fractions, and Riccati Equations, Volume 16 of Kluwer Texts in the Mathematical Sciences, Kluwer Academic Publishers, Boston, MA, 1996.
- [4] J. Baštinec, J. Diblík, and Z. Šmarda, Existence of positive solutions of discrete linear equations with a single delay, J. Difference Equ. Appl. 16(9) (2010), pp. 1047–1056.
- [5] M. Bohner, *Discrete Sturmian theory*, Math. Inequal. Appl. 1(3) (1998), pp. 375–383, Preprint in Ulmer Seminare 1.
- [6] M. Bohner and A. Peterson, *Dynamic Equations on Time Scales: An Introduction with Applications*, Birkhäuser, Boston, MA, 2001.
- [7] Y. Domshlak, Sturmian comparison method in oscillation study for discrete difference equations. I, II, Differential Integral Equations 7(2) (1994), pp. 571–582, 583–592.
- [8] P. Hartman, Difference equations: Disconjugacy, principal solutions, Green's functions, complete monotonicity, Trans. Amer. Math. Soc. 246 (1978), pp. 1–30.
- [9] W.G. Kelley and A.C. Peterson, Difference Equations: An Introduction with Applications, 2nd ed., Academic Press, San Diego, CA, 2001.

Downloaded by [Baylor University Libraries] at 11:20 04 February 2013